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1. Let f(x) = o Calculate f(EJ+f(aj‘*‘---"‘f(ﬁj“‘f(aj:—

2. Suppose that a and b are the integer part and positive fractional part of /12 + 3J12 ,

2a-3 5
+

respectively. Then =
a-b-1 a+b+1

3. Evaluate J.logl0 xdx =

4. Find the remainder r = when 7%21 is divided by 13

5. Let x and y be positive integers, where 0 < x <y <2022.  The ordered pairs (x, y) =
is there such that x>+ 20222 = y? + 20212

6. Let b be the minimum value of the function y = |x - 5| —|x - 1| +|x +2| —%x —% for x between

-3and7. Thenb=

7. Find the area bounded by the curve x* + y® =|x|+|)]
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(log2~0.3010 - 10g3z0.4771 + log7 ~0.8451)
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, Where arctan x is the inverse function of tan x
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1. Prove —arctan x =
dx x +1

2.3 f(x)=ax’ +bx+c B “WEGEHER > Ea, B f(X)=0Z "EiR > Ha<p -
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